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That he threw it — MNTIN ITINT

OVERVIEW

The & nx explained that according to 5" it will be necessary to say that the dog
threw the n>mx on the w73 and that the 27571 Hv1 is liable to pay a 1"n for the place
the coal landed and was burnt, since it is M717X of the dog. N50IN mentions that it
was not necessary to say that the dog threw the n%n3 (which is somewhat
uncommon and not explicitly stated in the 7wn).
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The X713 could have established the 71wn according to " that we are discussing
a case where the dog placed the nomx on the v°73 in an unusual manner, as was
said in the beginning of our p95.

SUMMARY
We can explain the 1" (on the N2 01pn) since it was placed 1w "y,

THINKING IT OVER
Why indeed did the %713 not offer mpoIn solution?’

! The 29571 9¥a is 20 a 1"n for the nbmxa 0Py since it was burnt »w "y (so it is a 7PT 7791N), but not because it is
m ¥, The advantage of this explanation is that it may be more common for a dog to place something "1°w *"v, than
to say that the dog threw it, and we are not reinterpreting the 71wn; see ‘Overview’.
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